Type 1 Grammars (Context Sensitive) (4)
One can get into trouble if one applies the wrong production:
  G = { N , T , S , P }

  N = { A , B , C }

  T = { a , b , c }

  S = A
  P = A  aABC | abC              (1, 2)

      CB  BC                     (3)

      bB  bb                     (4)

      bC  bc                     (5)

      cC  cc                     (6)

Apply production (1) 


A  aABC


(1)

A  a abC BC

(2)

A  aa bc BC

(5)
Stuck – can go no further!
The consequence of such a failure to generate a sentence is simply that we must try other possibilities until we find those that yield terminal strings. 
The consequences for parsing are that we may have to resort to considerable backtracking to decide whether a string is a sentence in the language.


